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ENGLISH-LANGUAGE AND LITERATURE

Class: X Time:1hr.

Date: 13/12/2022 - Max Marks:30

No of Printed Sides: 4 Reading Time :8-8.10 am
Writing Time :8.10- 9.10 am

Reading Section -5M
Writing& Gram. -10M
Literature -15M

READING 5 Marks

I. Read the following passage and answer the questions that follow.

Corruption, terrorism, communalism, greed for power and wealth and the list of
ailments that affect modern society continue. More than hall the population of India is
below the age group of 25 and the future of the country will only be bright if youngsters

are equipped to deal with these ailments.
A child is a storehouse of potential and it is important to nurture and develop these

attributes from a very young age. Since they spend much of the time in school, the
curriculum in school should be such that it enables children to understand, care and
practice ethical values like respect, justice and civic sense. Education should aim to
develop a sense of rights and duties as well as moral values like honesty, responsibility

and respect for others.
Moral education should be directed towards enhancing a child’s ability to critically

analyze situations, make decisions, empathize with people and work in cooperation

towards a common goal.
As a means of direct instructions to students, schools are very influential in the

character development of a child and the methods of education affect the development

of morally upright citizens who can bring about the much needed change in the
country.

The youth of today have to face a lot of problems like drug abuse, violent behavior and
family issues. If they are not taught morals, they would fail to differentiate between
good and bad values. Hence, they would be incapable in dealing with different types
of issues. A sound moral base would help a child make the right decisions, especially
in an era where the youth is more under the negative influence of the media.

Schools in India have introduced moral education as part of their curriculum because
they realize that morally sound citizens are the need of the hour. Since most children



look up to their teachers as role models, it is most appropriate that they be the

facilitators of moral values.
Thus, schools should focus more on the personality development of children since it
is one of the most important responsibilities of a school. Schools should take the

initiative to mould children into better human beings so that they can make the world

a better place to live in.
Based on your understanding of the passage, answer ANY FIVE out of the ten
questions by choosing the correct option: (1x5=5)

1

According to the passage, choose the most important responsibility of a

school.
a) Personality development of children
b) Telling children how to deal with illness
N

c) developing equality
d) Promoting sports
Which statement from the following is CORRECT based on your reading of

the passage.
a) The school curriculum’ role in school should be to enable children to

understand care and practice ethical values.
b) It is important to develop skills of a child.
c) Children should spend most of the time in playground,
d) Education should aim to develop co- curricular skills in children.

Pick the correct reasons from the following that affect modern society.
(1) Corruption

() Terrorism
(llHRights and Duties (IV) Education
(V) Greed for Power and Wealth (V1) Communalism
(@l, IV, Vand Vi (b) lll, IVand V
() I, lland 1l (@1 1l, Vand VI
i \

Identify the gquality that would help a child in making the right decisions

a) Responsibility

b) honesty
c) strong ethics and values

d) Civic sense
The youth of today will not be able to deal with different types of issues if they

are not taught morals:
a) As then they will be under the media influence

b) As then they would fail to differentiate between good and bad values

c) As then they will not be able to make quick decision

d) As then they would become dumb

Choose the option that lists the quote best expressing the central idea of the

passage.
a) You don't have to think too hard when you talk to teachers.
—J.D. Salinger

—Robert Maynard Hutchins

b) My idea of education is to unsettle the minds of the young and inflame
their intellects.
¢) Education is not filling a bucket, but lighting a fire. —William Yeats
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d) Students don't just need knowledge and know-how to succeed—they also
need emotional intelligence and compassion.
—Norman Vincent Peale

10M

Writing and Grammar
Il. You are Tushar Mathur of D-95, Sindhu Nagar, Jaipur. Write a letter to the

General Manager of the Jaipur Transport Undertaking complaining about the
SM ’

local bus service.
OR

“The ban on single-use plastic is impractical. The purpose of articles

like bags and packaging is ultimately to make human life easier. Plastic

articles do this well, so they shouldn’t be banned.
Write an analytical paragraph in 100-120 words to analyse the given

argument. You could think about what alternative explanations might weaken
the given conclusion and include rationale/evidence that would
strengthen/counter the given argument

lll. Do as directed: (1x5=5)
1. One of the glasses empty.
(a)is (b) were
(d) shall be

(c) are

2. There’s never petrol left after Rahul uses the cér.

a) many b) little
c) much d) a little
3.England, as well as other European countries, a tip-included policy.
(a) have (b) has
(c) was (d) were

4.Which option displays the correct change of the following to reported speech?

Keshav said, “Rita is busy right now.”

a) Keshav said Rita was busy.

._3_



b) Keahav Informed thal Rita was busy then.

) Keshav aald Rita had been busy,
d) Keshav Informed thal Rita Is busy.

5, Complete the given sentence, by filling in the blankwith the
correct option:

Rohit L when we arrived at the party.
a. had already left
b. has already left
c. have already left
d. was already left

LITERATURE 15 Marks

1. What things does Mij do which tell you that he is an intelligent, friendly and fun-
loving animal who needs love ? 3M

2 .What are the essential qualities for becoming a scientist, according to Albright's
teacher? 3M

3. What does the poet want to convey through the poem Trees? 3M
4. Give a brief charactersketch of Mr. Loisel ? 6M

OR

5. Why does W B Yeats emphasize that only God loves you for yourself alone?
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; =~ Periodic Test-3:- 2022-2023
Subject :Mathematics
Date:12 /12/2022 Marks:30
Class: X Time: 1 h
No of printed sides: 3 Reading time :8 - 8.10am

Writing time: 8.10- 9.10am
GEN_ERAL INSTRUCTIONS
» Write your name, roll number, class and section, date and subject clearly in your
answer script.
L. This Question Paper has 5 Sections A-E.

Z Sect?on A has 6 MCQs carrying 1 mark each
3. Section B has 3 questions carrying 02 marks each.
4. Section C has 3 questions carrying 03 marks each.
5. Section D has 1 question carrying of 05 marks.
6. Section E has 1 case based integrated units of assessment (04 marks) with subparts
of the values of 1, 2 and 1marks each respectively.
SiNo. Section A has 6 MCQs carrying 1 mark each Marks
I The equation 2x2 + kx + 3 = 0 has two equal roots, then the value of | 1
k is

(a) £V6 (b) 4 (c) 32 (d) £2V6

2, The polynomial equation x (x + 1) + 8 = (x +2) {x~2) is

~(a) linear equation
(b) quadratic equation
(c) cubic equation
(d) bi-quadratic equation
3. First four terms of the sequence a, = 2n + 3 are
(a)3,5,7,9
(b) 5,7,9, 11
(c)5,8,11,14
d)1,3,57

Find the 15th term of an AP -2, -5, -8, ...,
4, (a) 70 (b) -44 (&) 72 (d) 64 1
The mode and mean is given by 7 and 8, respectively. Then the
5 median is:

D ©F ©F @3




6. For the following distribution, j
1
Class 0-5 5-10,10-15 | 15-20 ' 20-25 =
Frequency 10 15 12 20 9
The sum of lower limits of median class and modal class is:
a)ls b) 25 c) 30 d) 35
L SECTION- B has 3 questions carrying 02 marks each.
7. | Find the roots of quadratic equations by factorisation: 2
V2 x2 + 7x + 5V2=0
8. Find the mode of the following frequency distribution:
Class Frequency 2
0-10 8
10-20 12
20-30 10
30-40 11
40-50 9
/ 9. / Which term of the arithmetic progression 5, 15, 25, ----- will be 130
more than its 31st term? 2
/ I SECTION —C has 3 questions carrying 03 marks each
10. The first term of an AP is 5, the last term is 45 and the sum is 400. | 3
Find the number of terms and the common difference. '
11. | A train travels at a certain average speed for a distance of 63 km and | 3

then travels at a distance of 72 km at an average speed of 6 km/hr
more than its original speed. If it takes 3 hours to complete the total

journey, what is the original average speed?

12. | The mean of the following frequency distribution is 62.8 and the
sum of frequencies is 50. Find the missing frequencies f; and f3:

Classes Frequences
0-20 5
20-40 fi
40-60 10
60-80 f
80-100 7
100-120 8

Ll
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SECTION-D has 1 question carrying 05 marks.

13.

' Following is the age distribution of dengue patients admitted in a

' hospital during a week of October, 2013

Age (in years) No. of patients
less than 10 30
less than 20 35
less than 30 55
less than 40 69
less than 50 90
less than 60 115
less than 70 136
less than 80 150

Find the median of the data given above.

SECTION-E has 1 case based integrated units of assessment
(04 marks) with subparts of the values of 1, 2 and 1marks each

respectively.

14.

Case study based questions are compulsory

| Your elder brother wants to buy a car and plans to take loan from a

bank for his car. He repays his total loan of Z1,18,000 by paying
every month starting with the first instalment of Rs 1000. If he
increases the instalment by Rs 100 every month , answer the

following:

1) Find the amount paid by him in 30* instalment?
2) Find the amount paid by him in the 30 instalments?
3) What amount does he still have to pay after 30th instalment?
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: SUBJECT: SCIENCE

MAX MARKS: 30

CLASS: X
WRITING TIME: 1 HOUR

DATE: 14/12/2022
NO OF PRINTED SIDES: 4

GENERAL INSTRUCTIC)NS:
* Write the name, roll number, class & section, date and subject clearly

in the answer script.
* Write the page number on the right-hand side top corner of each

paper.
(i) Section A has MCQ and Assertion —Reason type questions. They are to be
answered in one word or in one sentence.

(ii) Section B- short answer type questions, carrying 3 marks each. Answers to
these questions should not exceed 50 to 60 words.

(iii) Section C- long answer type questions carrying 5 marks each. Answers to
thesse questions should not exceed 80 to 90 words.

{iv) Answer should be brief and to the point. Also, the above-mentioned word limit is

adhered to as far as: possible.
(v] There is no choice in the question paper.

r
' S QUESTIONS :{LA&:‘{;ED

| NO.

|

SECTION A

Each question has four options, out of which
only one option is correct. Write the correct

answer.

1 Four students showed the following traces of the path of a 1
ray of light passing through a rectangular glass slab.




X >
3 1
T i S 1Y, ™
The trace most likely to be correct is that of student;
(a)l (b) II (c) I1I (d) 1V

——

The highly reactive metals like Sodium, Potassium, !
Magnesium, etc. are extracted by the
(a) electrolysis of their molten chloride
(b) electrolysis of their molten oxides
(c) reduction by aluminium

(d) reduction by carbon

Which among the following diseases is not sexually
transmitted?

(a) Syphilis

(b) Hepatitis
(c) HIV-AIDS
(d) Gonorrhoea

Note: In the following questions 4 to 6, a statement of
Reasoning follows a statement of Assertion. Choose the

correct answer from the following options.
(a) Both assertion and reason are correct statements, and the

reason is the correct explanation for assertion.

(b) Both assertion and reason are correct statements but the
reason is not the correct explanation for assertion.

(c) The assertion is correct, but the reason is the wrong

statement.
(d) The assertion is wrong, but the reason is the correct

statement.

ASSERTION: Light does not travel in the same direction 1n
all the media.




th

"
]
1

|

1

REASON: The speed of light does not change as it enters
from one transparent medium to another,

‘\

!
1
|
i
|

REASON: Alloys are heterogeneous mixtures of metals
with other metals and non-metals.

ASSERTION: Bronze is an alloy of copper and tin. \\

|

ASSERTION: Reproduction is essential for the continuation

|

of species.
_REASON: Organisms cannot survive without reproduction.

SECTION B

4.5 cm needle 1s placed 12 cm away from a convex mirror of

magnification. Describe what happens to the image as the
needle 1s moved farther from the mirror.

focal length 15 cm. Give the location of the image and \

|
\

|
J

An ore on treatment with dilute hydrochloric acid produces
brisk effervescence. Name the type of ore with one example.
What steps will be required to obtain metal from the

enriched ore? Also write the chemical equations for the
reactions mvolved in the process.

!
3
3

germination of pollen on the stigma.
(b) Give the functions of

(1) Stigma (11) Ovary

(a) Draw a neat labelled diagram of a pistil showing the W

3

SECTION C

1
\

10

Draw ray diagrams to show the formation of three times
magnified

(a) real and

(b) virtual images of an object by a converging lens. Mark
the positions of O, F and 2F in each diagram.

(c) Water has a refractive index of 1.33 and alcohol has a
refractive index of 1.36. Which of the two mediums 1s
optically denser? Give a reason for your answer.

S

11

(2) What are covalent compounds? Why are they different

from ionic compounds? List two characteristic properties of
covalent compounds.

(b) Give reasons for the following:
(1) Diamond has a high melting point.

(ii) Graphite is a good conductor of electricity.

\5

e —
————




() Idennty the piven diagram, Name parts 1 1o 5.

(by Mention the function of part [,

(¢) What is contraception? List three advantages of adopting
contraceptive measures.

S ——
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‘ Periodic Test — 111 — 2022-23
Class : X Subject : Social Science
Time : 1Hour

Date : 16-12-2022

Marks : 30
No of printed sides : 2
1)InF3ombay, ___ built huge industrial empires in India. (1)
a)J N Tata b)J M Tata
¢)J D ‘Tata d)J Tata
2) Ma nchester in England was well knownfor B (1)
a) Costton. b) Textiles
c) Silk dy Wool
(1)

3) “Which of the following is not true about democracy?
a’, It always worries about majorities and public opinion.
F») It improves the quality of decision making.

c) Decision making is faster and quicker.

d) It allows a room to correct mistakes
4) Removing barriers or restrictions set by the government is called
(1

a)Globalisation. b) Free trade

c) Liberalisation d) Favourable trade

5) The principal lignite reserves are found in ___,in Tamil Nadu and are

used for generation of electricity. (1)

a) Madurai b) Vellore

c) Neyveli d) Tuticorin

6) Which form of coal has a low carbon and high moisture contents and low

heating capacity? (1)

a)Peat  b)Lignite  C) Anthracite d) Bituminous

7) Give reasons for the clashes between weavers and gomasthas. (3)

8) Explain the role of advertisements in creating new consumers for the British

products. (3)

9) Explain three conditions under which democracies are able to accommodate

social diversities. (3)
duce an accountable government. (3)

(3)

10) How does democracy pro
11) What are characteristics o
12) How has globalisation been a

f Special Economic Zone.
dvantageous to both producers as well as
(3)

consumers in India. Explain.

13) Distinguish between Conventional and Non Conventional sources of

energy. (3)
e of Natural Gas as a source of fuel. (3)

14) Discuss the importanc
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SINDHI HIGH SCHOOL . K.K ROAD

s BENGALURU _
Wy 3% PERIODIC TEST 2022-23

ENGLISH-LANGUAGE AND LITERATURE

|

Class: X Time:1hr.

Date: 13/12/2022 Max Marks:30

No of Printed Sides: 4 Reading Time :8-8.10 am
Whriting Time :8.10- 9.1C am

Reading Section -5SM
Writing& Gram. -10M
Literature -15M

READING 5 Marks

I. Read the following passage and answer the questions that follow.

Corruption, terrorism, communalism, greed for power and wealth and the list of
ailments that affect modern society continue. More than hall the population of India is
below the age group of 25 and the future of the country will only be bright if youngsters

are equipped to deal with these ailments.
A child is a storehouse of potential and it is important to nurture and develop these

attributes from a very young age. Since they spend much of the time in school, the

curriculum in school should be such that it enables children to understand, care and

practice ethical values like respect, justice and civic sense. Education should aim to

develop a sense of rights and duties as well as moral values like honesty, responsibility

and respect for others. '

Moral education should be directed towards enhancing a child’s ability to critically

analyze situations, make decisions, empathize with people and work in cooperation

towards a common goal. :

As a means of direct instructions to students, schools are very influential in the

character development of a child and the methods of education affect the development

of morally upright citizens who can bring about the much needed change'in the

country.

;f:; l);oizlhuc;fs fol(:iz :f\; etonizatc:;i ;c:]tto; g:c;ze;r;se like drug at.atljse, Yiolent _behavior and
, they would fail to differentiate between

gof’d and bad values. Hence, they would be incapable in dealing with different t

an issues. A sound moral base would help a child make the right decisions, es eZ‘piS
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facilitators of moral values.
Thus, schools should focus more

' on the personality development of children since it
IS one of the most important res

ponsibilities of a school. Schools should take the
tter human beings so that they can make the world
a better place to live in.

Basec_i on your understanding of the passage, answer ANY FIVE out of the ten
questions by choosing the correct option: (1x5=5)

1. According to the passage, choose the most important responsibility of a
school.

a) Personality development of children

b) Telling children how to deal with illness
c) developing equality

d) Promoting sports

2. Which statement from the following is CORRECT based on your reading of
the passage.

a) The school curriculum’ role in school should be to enable children to
understand care and practice ethical values.

b) ltis important to develop skills of a child.
¢) Children should spend most of the time in playground.
d) Education should aim to develop co- curricular skills in children.
3. Pick the correct reasons from the following that affect modern society.

(I) Terrorism (II) Corruption
(IlHRights and Duties (IV) Education

(V) Greed for Power and Wealth (V1) Communalism

@)1, IV, Vand VI (b) Ill, IV and V
(©) I, Il and 1l (@)1, 11, V and VI

4. ldentify the quality that would help a child in making the right decisions.
a) Responsibility
b) honesty
c) strong ethics and values
d) Civic sense

5. The youth of today will not be able to deal with different t
are not taught morals:
a) As then they will be under the media influence
b) As then they would fail to differentiate between good and bad values
c) As then they will not be able to make quick decision
d) As then they would become dumb

6. Choose the option that lists the quote best expressing the central idea of the
passage.

a) You don't have to think too hard when you talk to teachers.

ypes of issues if they

—J.D. Salinger
b) My idea of education is to unsettle the minds of the young and inﬂamg
their intellects. —Robert Maynard Hutchins

) Education is not filling a bucket, but lighting a fire. —William Yeats
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d) Students don't just need knowledge and know-how 10 SuCCeed—they 8iso
need emotional intelligence and compassion

—Norman Vincent Pesle

Writing and Grammar 10M

Il. You are Tushar Mathur of D-85. Sindhu Nagar, Jaipur Write a letter 10 the

General Manager of the Jaipur Transport Undertaking complaining about the
local bus service 5M

OR

“The ban on single-use plastic s impractical. The purpose of articles
like bags and packaging is ultimately to make human life easier Plastic
articles do this well. so they shouldn't be banned.

Write an analytcal paragraph in 100-120 words to analyse the given
argument. You could think about what alternative explanations might weaken

the given conclusion and include rationale/evidence that would
strengthen/counter the given argument

lll. Do as directed: (1x5=5)
1. One of the glasses empty
(a)is (b) were
(c) are (d) shat be

2. There's never petrol left after Rahul uses the car

a) many b) Ktie
¢) much d) a latle
3.England. as well as other European countnes. 8 tip-inciuded policy
(a) have (b) has
(c) was (C) were

4 Which option displays the correct change of the foliowng 10 reported speech?

Keshav said. “Rita is busy right now."
a) Keshav saxd Rita was busy.
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